;oluﬁ(’“:

Calculation of Net Present Value

f Cash Present Value Present Value
Inflows factor at 10% of cash inflows
Rs. | Rs.
i 9,000 K 0909 _ 881
2 8,000 7~ 0.826 6,608
3 7,000 0.751 =~ 5,257
4 6,000 .  0.683 - 4,098
5 5000 4 0.621 z 3,105
Total present value of cash inflows 27,249
Less: Total present value of cash outflows |
(investment) 25,000
249
Net Present Value (NPV) 2"'4'_'_
recommended.

As Net Present Value is positive, the project 18
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"“Need and Importance of Capital Budgeting

_ Capital budgeting decisions are among the most mldalw
critical business decisions. Special care s.hould be taken in i
these decisions on account of the following reasons. .

1) Heavy Investment: All capital expenditure projects nvolve ey,
investment of funds. These funds are raised by the firm from ‘m :
external and internal sources. Hence, it is important for a fim ,
plan its capital expenditure.

term planuing

expenditures are not only large but also more or less permanent; |
blocked. Therefore, these are long term investment decisions. Tk

longer the time, the greater is the risk involved. Hence, carefi |
planning is essential. |

2) Permanent Commitment of Funds: The funds involved in capiz

i)a \I'-Ong1 Term Effect on Profitability: Capital budgeting decisias §
¢ a long term and significant effect opn the profitability of 8§

concern. If properly plan ' '
colume of 1o<" zv planned, they can increase the size, scale 8

are irreversible, Once the

?s taken, it is very difficult
1s difficult to g;
Spos :
Pose of thege assets without incurring heavy 5

i v
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-
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o
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2 Ascounting Rate of Return Method.

T ———— -
-

1 Discounted Cash Flow Method:
) Net Present Value Method
} Present Value Index Method

- Intemzl Rate of Return Method

Y i —

W

L~

¥ back method is popularly known as pay off, or pay -

S T - over the
' i 18 defined as the number of years required o reco

=80 outlay invested in a project- |

-
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A1
Merits

.

>
|

has the following merits_
o 1ack method
['he pay bac“ "

[ It is easy O calculate and simple to understanq

P

2 It is preferred by executives who like guick Ay,
: ;

z
selection of the pr onsal. by %
3 It is useful where the business is suffering from shorty,. |

: ‘ O |
. il recovery is essential for repaymenr o4 |
furlds as qUICk IE W____,,X‘-f—#"'“""’” wt' ;}

4 It is useful for industries subject to uncertainity, instap %
. . . ‘\\ :
or rapid technological changes. |

/"

5. It is useful where profitability is not important.
Demerits

cm————
e

The method has the following demerits.
. g ol

1. This method is delicate and rigid. A slight ¢

. . hange in th
operation cost will affect the cash inflows and the pay bacli
period. i} E

2. It does not take int

28 O account the life of the project,
dep féciation, scrap value, interest factor etc e

3. ' i
It completely 1gnores cash inflows after the pay back period.
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Average Annual profit

N - T A 1
1. ARR = Original investment x 100 (or)
Average Annual profit . 100

7 ARR= ~ Average investment

average annual profit refers to average profit after

The ter™ . .
d tax over the life of the project.

1on n an

jprecwt
average investment can be calculated by any of the

following methods.

Original Investment (or)

————

Original Investment — Scrap value
5 .

Merits
The following are the merits of accounting rate of return method.

1. Itis simple to understand and easy to calculate.

2. This method gives due Welghtage to the prohtablhty of the
project.

————

3. Ittakes into cons1derat10n the total earnings from the project
during its life time.

4. Rate of return may be readily calculated with the help of
accounting data. —_—

\ D‘fments

This method suffers from the following weaknesses.

LIt uses accounting profits and not the cash inflows I

appraising the project.
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Merits
1.

2.

5.

o, Therate vs === v -

fDiscounted Cashflow Method
OThiS method considers the entire economic life of the project.

It gives due weightage to time factor. That is, time value of
money 18 considered.

It facilitates comparison between projects.

This approach by recognising time factor, makes sufficient

M for uncertainity and risk.

It is the best method where cash inflows are uneven.

Demerits

1.

It involves a great deal of calculations. Hence it is difficult
and complicated. = |

It is very difficult to forecast the economic life of any
investment exactly.

The selection of an appropriate rate of interest is also |
difficult. -
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